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Answer any FIVE Questions
All Questions carry equal marks
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(a) If a binary signal is sent over a 3KHz channel whose signal to noise ratio is
20dB. What is the maximum achievable data rate?

(b) Which switching method allows real-time data transfer? t1 van-
tages of packet switching? [8+8]

(a) What is public key cryptography? What are_t ecessay” conditions for
public key cryptography?

(b) Explain RSA algorithm with example? [8+8]

(a) What is a sliding window prot 19%¢t used? How will you determine

the performance of a slidin pr@tocol?

(b) A channel has a bit r 4 kBps and a propagation delay of 20 msec. For
what range of fra zes s stop-and-wait give an efficiency of at least 50
percent? [8+8]

(a) Explaingth ol'Scenarios for releasing a connection.

(b) :‘s\ ation between NSAP & TSAP? [12+4]

(a) Disduss about fast Ethernet cabling?

(b) Explain various token bus control frames? [8+8]

(a) Explain any two applications for which flooding is preferred over Distance

vector routing.
(b) If network topology never changes, which of the routing protocols, Shortest
path routing & Distance vector routing is preferred and why. [8+8]
(a) What is the relationship between telecommunications and data communica-
tions? Is one a subset of other? Give reasons for your answers?
(b) What are the different goals and applications of networking? Give five reasons
of how networks are a part of our lives? [8+8]
(a) When RARP is required. Explain how it works. What is the limitation of
RARP? How BOOTP provides solution for it?

(b) What is the difference between classful addressing and classless addressing?
How classless addressing results in decrease in the table size?
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(¢) Give an argument why the leaky bucket algorithm should allow just one packet
per tick, independent of how large the packet is. [6-+5+5]

* Kk k ok ok
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(a) Explain the protocol scenarios for releasing a connection.

(b) What is the relation between NSAP & TSAP? [12+4]

(a) What is a sliding window protocol? Where is it used? H you determine
the performance of a sliding window protocol?

(b) A channel has a bit rate of 4 kbps and a prop ati f 20 msec. For
what range of frame sizes does stop-and-w; a efﬁmency of at least 50
percent? [8+8]

(a) Discuss about fast Ethernet cablimg?

(b) Explain various token bus ? 848

(a) What is public keyserypt
public key cryptogra

aphy? What are the necessary conditions for

(b) Explain [8+8]
(a) W . What is the limitation of
R

(b) Whatyis the difference between classful addressing and classless addressing?
How classless addressing results in decrease in the table size?

(¢) Give an argument why the leaky bucket algorithm should allow just one packet
per tick, independent of how large the packet is. [6-+5+5]

(a) Explain any two applications for which flooding is preferred over Distance
vector routing.

(b) If network topology never changes, which of the routing protocols, Shortest
path routing & Distance vector routing is preferred and why. [8+8]

(a) What is the relationship between telecommunications and data communica-
tions? Is one a subset of other? Give reasons for your answers?

(b) What are the different goals and applications of networking? Give five reasons

of how networks are a part of our lives? [8+-8]

(a) If a binary signal is sent over a 3KHz channel whose signal to noise ratio is
20dB. What is the maximum achievable data rate?
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(b) Which switching method allows real-time data transfer? Mention the advan-
tages of packet switching? [8+8]

* Kk k ok ok
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(a) What is public key cryptography? What are the necessary conditions for

public key cryptography?
(b) Explain RSA algorithm with example? @8—1—8]
(a) Explain the protocol scenarios for releasing a connectfon.

(b)

(a)

b) What is the relation between NSAP & TSAP? [12+4]

a) If a binary signal is sent over a 3KHz cha seé’signal to noise ratio is
20dB. What is the maximum achieva tagate’

(b) Which switching method allo
tages of packet switching?

data transfer? Mention the advan-
[8+8]

(a) What is the relati ip b&tweer?’ telecommunications and data communica-
tions? Is one a sulbs othét? Give reasons for your answers?

(b) What are

of ho t
(a) laig?® any two applications for which flooding is preferred over Distance

vectQr routing.

ere als and applications of networking? Give five reasons
ame a part of our lives? [8+-8]

(b) If network topology never changes, which of the routing protocols, Shortest
path routing & Distance vector routing is preferred and why:. [8+8]

(a) What is a sliding window protocol? Where is it used? How will you determine
the performance of a sliding window protocol?

(b) A channel has a bit rate of 4 kbps and a propagation delay of 20 msec. For
what range of frame sizes does stop-and-wait give an efficiency of at least 50
percent? [8+8]

(a) When RARP is required. Explain how it works. What is the limitation of
RARP? How BOOTP provides solution for it?

(b) What is the difference between classful addressing and classless addressing?
How classless addressing results in decrease in the table size?

(¢) Give an argument why the leaky bucket algorithm should allow just one packet
per tick, independent of how large the packet is. [6+5+5]

(a) Discuss about fast Ethernet cabling?
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(b) Explain various token bus control frames? [8+8]

* Kk ok ok
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Answer any FIVE Questions
All Questions carry equal marks
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(a) When RARP is required. Explain how it works. What is the limitation of
RARP? How BOOTP provides solution for it?

(b) What is the difference between classful addressing and clastle ing?
How classless addressing results in decrease in the table@ize?

(c¢) Give an argument why the leaky bucket algorithm Id a jist one packet

per tick, independent of how large the packet i [6-+5+5]
(a) What is public key cryptography? hat “are necessary conditions for

public key cryptography?

(b) Explain RSA algorithm with [8+8]

(a) If a binary signal is s 8KHz channel whose signal to noise ratio is

[8+8]

ti s one a subset of other? Give reasons for your answers?
(b) Whatare the different goals and applications of networking? Give five reasons
of how networks are a part of our lives? [8+8]
(a) What is a sliding window protocol? Where is it used? How will you determine

the performance of a sliding window protocol?

(b) A channel has a bit rate of 4 kbps and a propagation delay of 20 msec. For
what range of frame sizes does stop-and-wait give an efficiency of at least 50
percent? [8+8]

a) Explain the protocol scenarios for releasing a connection.

b) What is the relation between NSAP & TSAP? [12+4]

b

(a)

(b)

(a) Discuss about fast Ethernet cabling?

(b) Explain various token bus control frames? 848
(a)

a) Explain any two applications for which flooding is preferred over Distance
vector routing.
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(b) If network topology never changes, which of the routing protocols, Shortest
path routing & Distance vector routing is preferred and why. [8+8]

* Kk k ok ok
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